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@ Which one can be convert AC to pC?

(ON) Transistor
(B) Transformer
(C) SCR

(D) None

How many diode are use in bridge full

ware rectifier.
(A) 4 (B) 3
(C) 2 (D) 1

The efficiency of half ware rectifier.
(A) 42% (8)
(&) 60% (D)
In JFET if V¢ change from 4.8V to 6.8V

40.5%

96.2%

then drain current change into 0.8mA

to 1.0mA. Then what is value of drain

resistance.
(A) 4.8KQ  YB) 6.8KQ
(C) 6.0 KQ (D) 10KQ

A JFET has disadvantage of :
(A) being noisy
QB) housing small gain-bandwidth prod-
uct

(C) having low input impedance

(D) None

286\C\2021

1.

2.

4.

S 3 § & AC B DC ¥ wRafdfa o< &1
(A) giRdreR

(B) TiABFR

(C) SCR

(D) IR ¥ ¥ B TE

g of o R # et vl s fosar
e €

(A) 4 (B) 3

(€) 2 (D) 1

IZ-qa R B 2aran arH fhae At
&

(A) 42% (B) 40.5%

(C) 60% (D) 96.2%

IJFET # gl v, 3 4.8V ¥ 6.8V bar smar &,
o §7 9R1 0.8mA ¥ 1.0mA tRaffa & s

&1 &7 vk &1 9 @ @l

(A) 4.8KQ (B) 6.8KQ
(C) 6.0KQ (D) 10KQ
JFET &1 Har &:

(A) ¥R ®R S

(B) T o 3oz g oFwa
(C) T el wftramen

(D) IR & A B =&

PT.O:
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prarat €0 1
6. input impedencey MOSFET is? 0 nosmﬂw
(A) tess than JFET BuUt greater then W
(A) JFET # 79 7] o7t
8
A mn
(B) greater then JFET But less then (B) JFET & 3t 7T BJT
8JT

A SBA
JFET v BJT 2F0
(C) less than JFET and 8)T (€)

(0) greater then JFET and B)T (D) JFET &m BJT 2 A 3t
7. The maximum efficiency of  ful wove 7 o mm Rt B bRz o A
rectifier is?
(A) 100% (B) 509 {a; 100% (8) S0%
(C) 41% (D) B1.2% (C) 41% (D) 81.2%
8. JFETs: g JFET
(A) current driven device (A) o-ofm e
(B) voltage driven device (B) maﬁ?ﬁ o

(C) power driven device
(C) R wfden o

(D) None of these

9. BJT is a device: N :;) ;T:: B
(A) Unipolar device ) e m q&l
(B) Bipolar device ®) mq%
(C) Both Unipolar and Bipolar device (©) o oy s
(D) None () mﬁﬂwj:&agﬂﬁ
(4]
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d0. The correct relation is?

.\ t=t[,\/;:l'zzE

L

(B) t=t, 1+§5
Q) t=—r
1_v
173
tC
®) t,= L
1V
c?

\1@. The relativistic mass of a particle:
(A) decreases with velocity
(B) increases with velocity
(C) decrease with velocity and finally
become zero
(D) decreases or Increases with ve-
locity and finally become infinite

M. The rest mass of Photon is:

) v (8) L
© ® o

("

. The rest mass of an electron is m,.

When it moves with speed 0.6 ¢ its

mass is:
W 2m, (B) &m,
(C) mo (D) %mu

M. The Lorentz transformation reduce to
Galilean transformation when ¥ tends

to:

(A) zero (B) infinite

(C) one (D)  None
286\C\2021

10.

11.

12.

13.

14.

e 3§ v wea 2

(A) t=t, 1—%2-

L
(B) t=t,/1+3

(C) t=,_..t_°._—

L
-z
(D) t,=——
o7 [Vt
’vl c?
Rt oT @7 S B

i

(A) ¥ A g 2

(B) A7 & Ty qganl &)

(C) 37 & T geal & T IFT & F 2l

(D) 7 & G UT N §¢ STl & qA 3=
& T 21

BIeH BT RM g 8nm)

() (8) %

(©) 5% (©) o0

SR &1 fRm wga m, & 79 98 0.6
c @ U ¥ e & A Sole B I
@ar gnml

(A) 2m, (8 &m,

(C) m, (D) 2 m,

RS TRl AR SR § gew
STl 518 & 1 HF gnm? |
(A) T (B) 3™

(C) & (D) ¥ &
P.T.0.
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5. P wh e &

5. The correct relation is: , 2
(A) E= Jymic*+Pc

= 2 ‘+PC;
(A) E=\m'c (8) £ = mic +PC

. mic 4P . :
(B) E=ym'c"+PC (C) E,vmac‘-'li-P:C

(€) E =.mic*+Pc

(D) E=m’c
(D) E=mic?
- m gt T
@ A proton has a charge q when at rest. 16, TR 3 o e yor 2
When it acquires a velocity g its am g WRMta‘ym
charge becomes.
™ q (A) q
-
(B) e (8 i
/ 1 2 '1_ :
4 2 C 2
(©) ay 1-(3) © gy1-(3)
(D) Infinite (D) 3=4
7. A beam of light moves along right with ~ 17. @1 &1 431 4 ¢ & 2wt 3R wen &1 gt
velocity c. If earth also moves along v am A et AR g 31 e 45 & o
right with velocity v. Then the speed of ‘I?Zﬂ & umer i
beam of light relative to earth is. (A)
(A) ¢ (B) c+v (B) c+v
P (C) c~v
(C) cv (D) Vei+? o
(D) Ve +\?

8. The probability that from two dice the .
18. 2 Ul & T P T1 Wmgrad
W w8 & am 7 A

. sum of either 7 or 11 is obtained is:

v, 1 3 & miyasar vy
P 1 1
W& ®) i8 (A) 16 (B) 1
&
2
©F O OF o
286\C\2021 (6] 10
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N- Identical coins are tossed simulta-
neously. The probability -of rmnimurn

combination is:

(A) 2 ® %
(C) (2) (D) ilﬁ

Stirling's formula for large n is:

(A) Iog; nl=nlogn
B) log n!=nlog n-n

{(é@) log 2n!= 2 log n-n

(D) log ni=nlog n+n

The Bolt'sman relation between entro-
py S and probability w is:
(A) S=klogw
(B) S=
(C) S=logk+w
(D) S= wlogk

log kw

Phase space is divided into:
(A) Groups

(B) Subgroups

(C) Sets

(®) Cells

. Thermodynamic probability is:

() w=li

- N!
(B) W=gminT
(C) w=N!

(D) None

e ——— e

19. N §ur Ryge! @ U5 T IV AT 2

20.

22,

23.

https:// www.d[)r-auon]_in& com

e < @Y e @t
(A) 2" (B)
© @» ()

n % wftrs A & e, <ffr @ g7 2
(A) logn!=nlogn

(B) log n'=n log n-n

(C) log 2n!= 2 log n-n

(D) log n!'=n log n+n

voETdY S en Wikdar w & did deHHH -
Y B

(A) S=k logw

(B) S=
(C) S=log k+w

(D) S= wlogk

Fent arerer famfore e 2
(A) R d

(B) Iwuwg A

(C) =g 4

D) it &

I Sfdesar &1 7= 2

) w=N

log _kw

(B) w= n 'nr\:.',..nll
(C) w=N!

(D) B T

P.T.0.
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24, W o gereen ¥ e PR B T

R4, In equilibrium state, the thermody-

Namic probability of a system is:
(A) maximum

(B) minimum but not 1

(C) one

(D) zero

a Coin 10 times we get all heads:

(A) Zero (8) {—%)w

10

© (%) @) 252(3)

526 Number of cells in 2f dimensional

phase space is:

(A) 2f
(B) f
(C) 6f
(D) 1S [ [ ] exeyseapxcoyope
s
27. Partition function z is :
(A) D gie™
(B) 2 gie™
(C) 2gile™+1)
9
(D) 2oy
28. A man is running on a 100m straight
track. The number of degree of free-
dom associated with the motion of the
man is:
(A) 1 (B) 2
(C) 3 (D)  Zero
2861C\2021

(8]

26.

7.

28.

aritreen &

(A) ftrm

(8) e oy 1 T
(C) &

(D) T
v Rl @ 10 A B0 T B TR

7o Y ot ) A 6 T &

10
(A) =T (B) {%}
© & o 22}
2f-fefta e s ¥ SftseEt B ww=m
2rh -
(A) 2f
(B) f
(C) 6f

(A) Dgie™

(B) D gie™

https://www.dbrauonline.com
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32.

33,
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In a system in thermal equilibrium at
absolute temperature t, two states with
energy difference 4.38x10-2! J occur
with relative probability e?. Then the
temperature is (K=1.38x10-2 J/K)

(A) 175K (B) 125K

(C) 173K (D) OK

The Maxwell-Boltzman law follow by

particle of:
(A) Solid (B) Liquid
(€) Gas (D) Al above

Four partice have speeds 2, 3, 4, and 5
cm/s respectively. Their rms speed is:

(A) 3.5cm/s (8) 54cm/s

27 v54

(C) 5 cm/s (D) 5 cm/s

The correct relation between v, V

and v, is:

(A) Vv, <V <V

(B) VoV <V

(C) v, <VvOV,

(D) Vv, > V>V,

The spin of Bosons is:

(A) 3 (8) 1

(C) Oand 1 (D) O

286\C\2021

29.

31.

32.

(9]

s R Rrar o Tl ana 1,
2 el 3 W IR 93810 Jule &
o B et Y SwfRY wiRkween e*®) AW
1 7R A (K=1.38x10" Y/K)

(A) 175K (8) 125K

(C) 173K (0) oK

Hrder- e Fraw @1 O B A
oy & &

(A) B> (B) ®d .

(C) ¥ S (D) IR ol

R ot & T 2, 3, 4, 5 cmys Bl FH
it e @ @A (rms) B

(A} 3.5 cm/s (B) V/54cm/s
© & cws (D) —"(?icrnls

vV, Vv, ¥ Rk
@ &l

(A) V<V < Vg

(B) voov<v,.

(C) v,<v>v,

(D) v,>v>ov,
JTH B a1 &1

# 5 (8 1
() o3R1 (D)

P.T.0.
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- o~ Particale pre
& (A) Classical particles
' (8) ' Bosons
(C) Fermions . \
(D) Elementary particles
“\I5. The average energy of an electron in

free electron gas is:

(A L1 () 2E
4
5

® 2 (D)
36. PFermi-Dirac distribution function ni=?
(A) gie

(B) gi e

(€) —2

(e + 1)

gi
©®) 1)

37. The temperature at which Vi, is dou-

ble of Vo, at temperature 300K?
(A) 75K (B) 150K
(C) 300K (D) 600K
38. The ratio of most probable speed, av-
erage speed and root mean square is:
(A) 1:1.28:1.242
(B) 1:1.128:1.224
(C) 1:2:1
(D) 1:2:1.414

286\C\2021 [10]

34.

35.

37.

38.

«- o1 8 &

(A) e 07

(B) M

(C) v

(D) sneflis @01
gﬁﬁﬂ;‘ﬁﬂﬂﬁuﬂimﬁﬁmm

gt &1

A LE (8) SE
© e ®) 3E
w1 frRor wer & ni=?
(A) gie™

(B) giet

gi
© &

© @

& a9 R W v, 27 @ I 300K
qh R Vo, &

(A) 75K (B) 150K
Wt e e, st e g - M
T T & 7 3 )

(A) 1:1.28:1,243
(B) 1:1.128:1.204
(C) 1:2:1

(D) 1:2:1.414
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-\3@.} A diatomic gas molecule has total ki- 39

40.

42. Six dimenstional space is called. 4.
(A) u-space (B) t-space
(C) p-space (©) vy-space
\3. The packing fraction of fcc cube is: 43.
(A) 0.68 (B) 0.52
(€) 0.74 (D) 0.62
286\C\2021 (11

netic energy.

(A) JKT (B)  JkT
(© 3 (© k1
The correct relation is: 40

(A) v, =, %vm

. Fermi energy of Sodium is 3.1eV then 41,

Fermi temperature is?
(K=1.38%10"22)/K)
(A} 2.25%10%K

(B) 3.6x10°K

(C) 2.25x104K

(D) 3.6x10°

v Reemops et B 307 B g ey 5
P & @ )
(A) §xT (8) KT
, 7
(C) gm’ (D) ZKT
i wn o @ &
(R) v, =y § Ve
(B) v, =1 § Voms
€ V= §Vem
(D) v, =, gv_.,_‘
i § o 330 3.1ev & off Mg A

2m? (K=1.38x10)/K)
(A) 2.25x10°K
(8) 3.6x10°K

(C) 2.25x10¥K

(D) 3.6%10°K
o @i s s v b
(A) p--¥re (8) ¥
(C) p--®m (D) y-®W
foc T @1 et o Rt A @
(A) 0.68 (8) 0.52
(C) 0.74 (D) 0.62
PTO.
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ﬂg Spacing between adjacent planes fora 44,
N
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cubic lattice is;
A d o -nr'a— T
(A) vhivki+ )t

e et e
(B) d=*" 2L

(C) d=a3

S
(D) d= fh_"'_é'i +]

4S. The number of atoms per unit cell in
bec lattic is:
(A) 3 (B) 2
(C) 4 (D) 6
"{,46. Bragg's Law is:
(A) 2)d= n cosec 0
(B) 2xd=nsin o
(C) 2i-'d= n cosec 0
(D) 2i-'d= nsin @
47. The Miller indices of a plane parallel to
Y-Z plane in fcc are:
(A) (111) (B (110)
(C) (100) (D) (200)
\4@. The atomic radius of simple cubic is:
3 ]
(A) -2 (8) -‘?—-a
a. a
© % ® 3
49. Bragg's equation valid if:
(A) A>d (B) a>2d
(C) A<d (D) a<2d
286\C12021

45.

46.

47.

48.

49.

[12]

2 ey e 4 8 P T
o g P 4 4 8

a .
(A) d= P

2 rki+ P
@ g=dPHK

(C) d=a°
0 4o 4T
bccmﬁﬁﬁlmmﬁ QRO
@ s gnfl

(A) 3 (B) 2

(C) 4 (D) 6

g P &

(A) 2ad= n cosec 0

(B) 2xd=nsin 0

(C) 2x'd= n cosec 0

(D) 2r'd=nsino

fec o5 aa & frer 37 e 29 30 v-2
ﬁﬂéﬂ‘l‘q‘ﬂmﬁ

(A) (111) (8) (110)

(€) (100) (D)  (200)

T W T fved @ romiis fism
P

W Z ®) Y2a

(©) % © 2

&1 B witawor du 2t o -

(A) A>d (B) a>2d

(C) A<d (D) a<2d

https://www.dbrauonline.com
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\Qo. What is the volume ofthe first Brillouin
zone of a simpie cubic lattice,
(A) a° (B) (2na)?
2n\
(® (4L

*51. Zinc crystallizes in h.c.p. structure, If

(c) &

ris the radius of zinc atom, the height

of the unit cell is:

142
(&) 2(5)

©) r(3)
5. Which has Hydrogen Bond?
. ) CH, (B) NacCl
*(€) HF (D) sSi
53. Energy gap in an insulater is about:
(A) 10-%eV (B) =<2eV
(C) <1eV (D) 6eV

5¢. The conductivity of semi conductor at

T=00°K is:
(A) Finite (B) Infinite
(€) Zero (D) None

@ The energy gap is semi-conductor is

the order of:

50. WRe T e A e R 9 8 e
T B

(A) a? (B)

© (%)

51. 3@ hcp Tenadmdlak  Bis
W] & frsar r 81 G Ui SiftssT Bt

e g

(2na)?

) &

1/2

() 2r($)
1/2
® ($)
1/2
© (3)
1/2
© (3)

52. = 7 foud amgiom & @)
(A) CH, (B) NacCl
(C) HF (D) Si

53. 3JAIcTdl H F31 IR BT 714 BraT ¥
(A) 10-%eVv (B) <2eV
(C) slev (D) 6ev

54. HEAICTD P! AT T=00K TR iy
(A) Ffma (B) 3F=
(C) I (D) &% =&

55. G ¥ F3 3Rt Fier §  Row e
TR &1 8|

(A) 6.0ev (B) 1.0eV (A) 6.0ev (B) 1.0ev
(€) 10ev (D) 3ev (C) 10eV (D) 3ev
286\C\2021 [13] P.T.0.
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56.

S8.

59.

760

.
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HaH constant is:
() -L B) te
(C) ne (D) -ne

Kronig-Penney model is:
® Free electron model
(B) Nearly free electron model

(C) Hall model

(D) Bohr model

According the Bloch theorem ¥(x)=?
(A) e*y (x)

(B) e y(x)

(C) e y(x)

(D) None

The relation between E_and T,
(A) E.=KT,

(B) E.=KT*

(C) E.=KT.?

(D) E.=KTZ?

The radius of nuclei directly propor-

tional to

{A) AP () A%

B o

Which one is not magic number.

(A) 8 (8) 12
286\C\2021

56.

57.

58.

59.

61,

[14]

60.

ﬁaﬁuﬁ@ﬁm# 1
O
(C) ne (D) e
ﬁﬁﬂ-ﬁﬁﬁgﬁﬁﬂﬁ%g

() T R T e

(B) T gad

(c) &fer wreet

(D) e et

d W ¥ 34-.:1::5{1'{’ U(x)=?
(A) erikx wk(x)
(B) e¥* w(x)
(C) e-2kx lp'(X)

(0) @ T

E, @ T, 3 wd v 2l

(A) E,=KT,

(B) E,=KT, -t

(C) E=KT,

(D) E=KT_?

TS B e fine § @
THRATE A &)

(A) A B A%
(©) Avs D) A
R e v i 8 &
“ s (8) 12
(©) sq (D) 82

i
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62. & v a7 BT wam B )

62. The nuclear angular momentum is?

~§3. The relation between half life T and

64.

(A) yI(I+1)A
(B) I(I+1)h
(C) I*a

(D) JVI(I-1)n

decay constant A is:
(A) »T=1
=1
(B) AT = 5
tC) AT=log e’
(D) i=(log e)T
The decay constant of radio active ma-
terial is 1.5x10°% per second. The av-
erage life that?
(A) 1.50x10° second
(B) 4.62x10® second

(C) 6.67x10% second
(D) 10.35x10® second

65. The half life of radio active isotope is
6 years. After 24 years how much part
of this atom will remain?

(A) 1 8 13
© & ® B
286\C\2021

[18]

63.

85.

(A) JI(I+1)n
(B) I{I+1)h
(C) I’a

FEIY T 3 g P A 3wy @

(A) AT=1
(B) AT=3
(C) iT=log e?

(D) 2=(log e)T

fod War e werl &1 o Proais
1.5x10 yfa ddvg 1 gwdt s amg
2

(A) 1.50x10° second

(B) 4.62x10® second

(C) 6.67x10® second

(D) 10.35x10® second

o 3 Wi & 3 g 6 &1

aa & TR 31 feaat s 24 2  admy
(A) 1 (B) %—65,
© 16 o 13

PTO.
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66. A deutron is bombarded on 8% pucle-

7.

oo duljuoneIqp mmm,//:sdny

-
'- 70}

286\C\2021

,68.

us and a-particle is emitted. The prod-

uct nuclease is:

Nl"- N13

(A) 7 (B) 7

5810

(C) 4% (D)

The phenomenon of fusion is used in
the construction of:

(A) Hydrogen bomb

(B) Atom bomb

(C) Neutron bomb

(D) Ordinary bomb

Nuclear fission can be explaned on the
basis of:

(A) Thomson model

(B) Liquid drop model

(€) Rutherford model

(D) Bohar model

14 69_9 Thermal neutron can cause fission in:

) U (e)

(C) Puz*

236
(D) Th

If M is atomic mass, A is mass number
then (M-A)/M is called:

(A) Binding energy

(B) Fermi energy

(C) Mass defect

(P) Packing fraction

[18]

66.

67.

68.

69.

70.

8%* ﬂg@ﬂ‘ﬂ”ﬁﬁaﬁ%m
a-@fﬁﬁlﬂglw #
13
@)y ™ ® 7
10
© © 5
<o e 4 & oo @Y SR Ry
(A) EwZIT T
(B) TR &
(C) g &
(D) I &

TRira frave & i # A e gy
AT 511 Fbel &

(A) oma Hise

(B) &R §< Hse A

(C) o Higa A

(D) dIR Al A

= & ¥ oo fraves Iuftg-ggA 4
o 3 e 2
(A) Uy

(B) uy=s
(©) Puee (®) The=
& M ey S FT A goqu W€
W (M-R)/M B g s
(A) w0 354
(B) weff 3
(C) B Ay
(D) ;@mm
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X1. Which of the following substance Is

used as a moderator?
(A) Heavy water

(B) Cadmium

(C) Uranium

(D) Plutonium

@ H-Meson belong to which family?

2

74.

75.

§) Lepton

\@) Mesons

(C) Baryons

(D) Photon

The spin of Photon is?

(A 3 (8) 0
() 1 ® 3
Which one can be detect by the G-M
counter. |

(A) a-particle

(B) Nuetrino

(C) Protons

(D) All above

The mass of mesons particles is?

(A) less then leptons

(B) greater then Baryons

(C) be between leptons and baryons

(D) None

286\C\2021

1.

73.

74.

75.

[17]

P & 3 fowe) dew & w0 & v R
S &1

(A) W 5

(B) dsfirm

(C) gvam

(D) wEfam

. p-RuH e A @ fvw oRaR & T 2

(A) e

(B) #¥E

(C) e

(D) ®rH

B &1 T Bl 2

() % B) 0
(© 1 @) 3
s 4 9 e G-M Tifdr @ < Rsar
31 W 2|

(A) a-3oT

(B) g

(C) sewi

(D) IR Wit

A BUN BT FTHH Brar &2

(A) ATH A B

(B) RdM ¥ S

(C) A d RAM & dra A

(D) IRiad & ¥ P =&

PT.0.
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7

]
\‘\’1\ is of order of:

(A) 0.01v (B) 0.05V
(C) 0.1v (D) 1.0V

(% The depletion layer in p-n junction is 77.

formed by:
(A) drift of electrons

@E diffusion of charge-carrier
(C) migration of impurity ions

(D) drift of holes

78. The diode equation is: 78.
(A) I=1I,(e""-1)
(B) I=1I,(e""7-1)
(C) 1=1,(1-e"")
(D) I=1,(1-e"7")
79.

. .In Zener diode, current flows is due to:

(™) majority carriers
(B) minority carriers
(C) both (A) and (B)

(D) None of these

(8. When a junction diode is heavily doped 0.

then.

(A) zener Voltage is low

() avalanche Voltage is high
(C) depletion layer Is thin

(D) leakage current is low

286\C\2021 [18]

6. The barrier potential In a p-n junction  76.

af F= g
p~n#ﬂ1iﬁﬂamﬁ

Lol 0.05V

B
(A) 0.01V (8) oV
o

(C) 0.1V :
P-néﬁﬁﬁmmﬁﬁﬁ%mm

(A) 1=1,(e"""-1)

(B) I1=T1,(e""7-1)

(C) 1=1I,(1-e"*1)

(D) I=I,(1-e"")

IR A ¥ 4Ry &7 yarg o o 5
PRI BKT 2

(A) TEHS A TTED! & BT

(B) RIS YT et 5 HRO
(C) 2t (A) 31k (8) % B

(D) IR § A B 39

D A 1ot iy areie
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intrinsie semiconductor then its con-

ductivity?
(W) Increase
(B) Decrease
(C) Constant
(D) None

B?). Zener diode is commonly use in:

(o0}
w

o]
A

(A) In forward bias
(B) Without bias
@® In reverse bias

(D) In either forward or reverse bias

. Which has negative resistance?

(A) Simple diode
(B) Zener diode
(C) Tunnel diode
(D) None

. A Zener diode is basically used as:

(A) for rectification
(B) as constant-current device
(C) as constant voltage device

(D) for modulation of radio signal

@DThe relation between i, i, and I_is?

(R) i,= i+,
(B) I=i,-i,
(©) i,= i,
(D) i= i,+i,

286\C\2021

hen we Increase the tem perature of

81.

82.

83.

84.

85.

191

FPOR Sremns o1 A9 4G T I unvwar

(A) azit

(B) wi

(C) wwr e &

(D) IRaw ¥ & B A

Hga: 3R g1de & wan e § J feed

farar Fmar 21

(A) 3 fiEfa &

(B) f&nm afimfa s

(C) Fopw o &

(D) 3w fiFfa T 36w FfEfE 3§ J =D
-V

Foncs wfeiy & B 3§ 3 frad Bar 2

(A) WURT e §

(B) IR zrarE W

(C) Tad ez ®
(D) IR ¥ | o &
IR ST4TE BT A e § |} Rewl dvar 1

(A) freasor & fRw

(B) Fraa umy gfe & g §
(C) From dts g % wa ¥
(D) 3y et & wge 3§
i, i, AR 1 ¥ Wy

(A) Q=i+,

(B) i= Iy~
(€) 1= 1-1,

(D) Q=1+,
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89,

90.
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BRIV
\>_j fhe relation between a and B is:

{A) a=1
(B) g=1

(D) (1-a) (14p)=1
The value of o?
(A) equaltop

(B) greater then p

(C) less than B But greater then 1
(D) less than B But less than 1
The unit of h,, is.

(A) Ohm

(B) Ohm-metre

(C) Moh

(D) Moh/metre

Which one is the correct relation.

_ _hib_
(A) hfe=3hfb

=_hfb_
(B) hfe =

_ _~hfb
(C) nfe =1
= ~hfb
(D) hfe =106
For a transistor B=40 and ig=
25uA. Then the valye of I is?
(A) 1mA
(B) 1.975maA
(C) 0

(D) 1.025ma

86.

87.

88.

89.

90.

@ T B § WY
(A) a=
(B) B=
(C) (1+a) (1-p)=1

R TOje

(D) (1-a) (14p)=1
o @1 99 e & F Aran &2

(A) BP R

(B) B 3t

(C) BABHRA 19 3>
(D) pATART 1 A
h,, B 558 & ¥

(A) 3™

(B) 3im-dex

(C) =

(D) Wi

e % wd v

A =_nhfb
(A) hfe T4+ G

B) hfe =-hfb_
(B) hfe 1R

% Qo & e =4 v
25pA Bl 7 1.3 a1 gy
(A) 1ma

(B) 1.975ma

€ o

(D) 1.025ma
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91. If a transistor has a=0.9 then the val- 91.
ue of p=?
(A)'«%O (B) 1
(C) 0.09 ~ (&) 0.9

92. How many p-n J'unctiorf in a transistor. 92.
(A) 4 (B) 3
(€) 2 D)y 1

93. For a transister 93,
Find the value of base current I, if
a=0.99, I,=5pA and I_=5mA
(A) 4.995 LA
(B) 4.955 pA
(C) 45 pA
(D) 495 uA

94. Load line is a curve plotted between 94,
(A) I.and V.
(B) I.andV,
(C) 1. and Vg,
(D) 1_and Vg

{5. The phase difference between input 95.
and output voltage in @ common emit-
tef circuit is:
(A) 60° (B) 90°
(C) 450 (R) 1800

288\C\2021 [21]
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of¥ v gifirex & R 0=0.9 & 78 36
fere p &1 7= @

(A) 9.0 (B) 1

(C) 0.09 (D) 0.90
o3 3§ p-n <iferdt B W fasa gl 21
(A) 4 (B) 3

(C) 2 (D) 1

giforee & eI €IRT 1, 3T A1 a1 g afe

@=0.99, I =5pA a1 I,.=5mA &I

I 7Co

(A) 4.995 A
(B) 4.955 uA
(C) 45 A

(D) 495 pA
e 5T a5 fbwr-Tsy 3 &g e 3 &
(A) I @V,
(B) IV,
(©) L7y,
(D) L@V,

mmmﬁwmm
areeansit # e gy )

(A) 60° (B)
(C) 450 (D)

900
1800

P.T.O.
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Bp— L f
96. Ideal value of stabllity factor Is: 08, it 1otis (S) ™ o1
(A) S<1 () S>1 (A) S<1 (B) 1
= (D) S=
(C) S=0 (D) S=1 (C) S=0 ok .
97. Point of intersection of load line with g7, R gifireex 1 oivs TN A Sifene
output characteristics of the transistor i 3 yRreded ﬁ"ﬁ @ adai Fed gl
is known as: (A) P-point
(A) P-point
ol (B) Q-point
(B) Q-point
(C) Load point (C) Load point
(D) X-point (D) X-point
98. The correct relation between A and A, 98 ATWA D o 98 9 &
- A
IS , (A] Af = m
(A) A=
f I-LBA (B) Af=1tABA
(B) A= 1+pBA A
A © A=pa1
(© A=ga-1 ;
(D) Af:.l.E_A, (D) A’r=ﬁ
99. In JFET, drain current is maximum 99. JFET ® gq arT e @it St Ves @
when V is: HH?
¥A) Negative (A) oM Brm
(B) Zero (B) Y= &m
(C) Positive (C) & =T B
(D) Equal to V, (D) V,¥ @R &nm |
100. The order of input impedance of JFET 100. ]Fﬂﬁwmaﬁa&%ﬁqﬁﬁﬁ 5
(A) 100 Q (A) 100 @
(B) 100 Kkq (8) 100 KO
(C) 100 MQ (C) 100 MQ
(D) 1 MQ (D) 1mq
286\C\2021 [22]
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